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माÚयǓमक िश¢ा परȣ¢ा  
(Secondary Education Examinations - SEE) 

clgjfo{ ul0ft 
;do M 3:00 306f          k"0ff{Í M 100 

;a} k|Zgx¿xnug{'xf];\ . Attempt all the Questions. 

;d"x …sÚ (Group 'A') [3 x 2 = 6] 

1. (a) d'Noclej[l4 s/sf] kl/efiff n]Vg'xf];\ . 
 Write down the definition of Value Added Tax (VAT). 

(b).  s'g} lqe'hsf ltg cf]6f e'hfx¿ qmdz M a, b / c 5g\ eg] ;f] lqe'hsf] cw{kl/ldlt slt 
 x'G5, n]Vg'xf];\ . 

 If three sides of a triangle are a,b and c respectively, what is the semi perimeter of the triangle?  
 Write it. 
2. (a) ;/n ug'{xf];\ (Simplify): 
 ௕ି௔ݔ ௔ି௕xݔ 
 (b).  juL{s[t tYofª\sdftNnf] rt'yf{Fzsf] dfg (Q1) kQfnufpg] ;"q n]Vg'xf];\ . 
 Write the formula to find the value of lower quartile (Q1) of a continuous data. 
3. (a) lbOPsf] lrqdf ;dfgfGt/ rt'{e'h PQRS / 

 ΔQTR sf] If]qkmn aLr s] ;DaGw x'G5, n]Vg'xf];\ . 

 In the given figure, what is the relation between the area of  

the parallelogram PQRS and the ΔQTR? Write it.  

 (b). ;Fu}sf ]lrqdf 0 j[Qsf] s]Gb|laGb' xf] . olb ∡NMP = x 0 

 eP ∡NOP sf] dfg kQf nufpg'xf];\ . 

 In the adjoining figure, O is the center  

 of a circle. If ∡NMP = x0, find the value of ∡NOP. 
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;d"x …vÚ (Group 'B') [7 x (2+2) +3 x (2+2+2) =34] 

4. (a) Pp6f j:t'sf] 13% d"Noclej[l4 s/;lxtsf] d"No ?= 5763 5 eg] d'Noclej[l4 s/ /sd 
  slt xf]nf < kQf nufpg'xf];\ . 

The price of an object with 13%value added tax is Rs. 5763. What will be the value added tax 
amount? Find it. 
(b). Pp6f df]6/;fOsnsf] xfnsf] d"No ?=2,25,000 5 . olb ;f] d'Nodf k|ltjif{ 8% sf b/n] aflif{s 
x|f; x'G5 eg], slt jif{kl5 df]6/;fOsnsf] d'No ?= 1,75,204.80 xf]nf < kQf nufpg'xf];\ . 
The present price of a motorcycle is Rs. 2,25,000. If its price is depreciated per year by 8%, after 
how many years will be the price of the motorcycle be Rs. 1,75,204.80? Find it. 

5. (a) cfwf/ e'hfsf] nDafO 10 ld6/ ePsf] Pp6f ;dlåafx 'lqe'hfsf/ hUufsf] If]qkmn 60 ju{  
 ld6/ eP ;f] hUufsf] afFsL e'hfx¿sf] gfk kQf nufpg'xf];\ . 

The area of anisosceles triangular land whose base side length 10 meter is 60 square meter. Find the 
measure of its remaining sides. 
(b). cfwf/sf] Jof; 14 ;]=ld= ePsf] Pp6f a]ngfsf] cfotg 2156 3g ;]=ld= 5 eg] ;f] a]ngfsf] 
prfO kQf nufpg'xf];\ . 
The volume of a cylinder with diameter of its base 14 cm is 2156 cubic cm. Find the height of the 
cylinder. 

 (c). lbOPsf] 7f]; lqe'hfsf/ lk|Hddf olb PQ⏊QR, PQ = 8 
 ;]=ld=, QR = 6 ;]=ld= / RR1= 15 ;]=ld= 5g\ eg] ;f] lk|Hdsf]  
 58\s] ;txsf] If]qkmn kQf nufpg'xf];\ .  
 In the given solid triangular prism, if PQ⏊QR, PQ = 8cm,  
 QR = 6cm and RR1= 15 cm, find the lateral surface area of the prism. 
6. (a) ;/n ug'{xf]; (Simplify):  
  2√98 - 8√32 + 3√72 
    (b). xnug'{xf];\ (Solve): 
ݔ√-9    − 4 = 5 

7. (a)dfg lgsfNg'xf];\ (Evaluate) :ଷ×ସೣାସೣషభ

ଵଷ×ସೣ
 

 (b). s'g} 3gfTds ;ª\Vofsf] ju{df 5 hf]8bf of]ukmn 69 x'G5 eg] pSt ;ª\Vof kQf nufpg'xf];\ . 
 If 5 is added to the square of a positive number, the sum is 69. Find the number. 
 (c). ;/n ug'{xf];\ (Simplify): 
   ଵ

(௫ି௬) - 
ଵ

(௫ା௬) + ଶ௫
௫మି௬మ

 

8. (a) lbOPsf] lrqdf BC// AE, BA//CD, BF// CE /AX⏊CD 5g\ . 
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olb AB = 12 ;]=ld= / rt'{e'h BCEF sf] If]qkmn 84 ju{ ;]=ld= 5eg] AX sf] nDafOkQfnufpg'xf];\ . 

In the given figure, BC// AE, BA//CD, BF// CE and  AX⏊CD. If AB= 12 cm and area of the 
quadrilateral BCEF = 84 sq. cm., find the length of AX. 

 (b). lbOPsf] lrqdfOj[Qsf] s]Gb|laGb' / MNPQ Pp6f rs|Lo rt'e{'hxf] .  

 olb NR= NP / ∡PNR = 500  eP ∡NMQ sf] gfk kQf nufpg'xf];\ . 

In the given figure, O is the centre of the circle and MNPQ is a cyclic 

 quadrilateral. If NR = NP and  ∡PNR = 500, find the size of ∡NMQ . 

(c). lbOPsf] lrqdf O j[Qsf] s]Gb|laGb' / AB :kz{ /]vf xf] .  
 olb OC = 5 ;]=ld= / BC = 12 ;]=ld= eP BE sf] gfk kQf nufpg'xf];\ . 

In the given figure, O is the center of the circle and AB  
 is a tangent line. If OC= 5 cm and BC = 12 cm, find the measure of BE. 

9. (a) lbOPsf] lqe'h XYZ df XY = 8 ;]=ld=, YZ = 12 ;]=ld=   
 / ΔXYZ sf] If]qkmn 24 ju{ ;]=ld= 5g\ eg] ∡XYZ sf] 
 gfk kQf nufpg'xf];\ . 

 In the given triangle XYZ, XY = 8 cm, YZ = 12 cm and  
 area of ΔXYZis  24 sq. cm., find the size of ∡XYZ. 

b). Pp6f juL{s[t tYofª\sdf, olb kbx¿sf] ;ª\Vof (N) = 9b+5, ∑fm = 350 / dWos (ܺ)തതത= 7 eP N 
sf] dfg kQf nufpg'xf];\ . 
In a grouped data, if the number of terms (N) =9b+5,∑fm = 350 and Mean (ܺ)തതത= 7, find the value of 
N. 

10. (a) Pp6f 8fO;nfO{ pkmfbf{ 3 n] efu hfg] ;ª\Vof cyjf ju{ ;ª\Vof cfpg] ;DefJotf slt x'G5 < 

  kQf nufpg'xf];\ . 
Find the probability of getting a number divisible by 3 or a square number when a fair dice is 
thrown. 

 (b). 10 cf]6f /ftf / 6 cf]6f sfnf pq} / p:t} anx¿ ePsf] Pp6f emf]nfaf6 Pskl5 csf]{ u/L k'g: 
  g/fvL 2 cf]6f anx¿ qmdzM lemSbf cfpg] ;a} kl/df0fsf ;DefJotfnfO{ j[Iflrqdf b]vfpg'xf];\ . 

From a bag containing 10 red and 6 black balls of the same shape and size, two balls are taken 
randomly in succession without replacement. Show the probabilities of all outcomes in a tree 
diagram. 
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;d"x …uÚ (Group' C') [10x4=40] 
11.  180 hgf ljBfyL{x?sf] ;d"xdf ;j{]If0f ubf{ 50 hgfn] ls|s]6 v]ndfq dg k/fpF5' eg], 30  
      hgfn] af:s]6 an v]ndfq dg k/fpF5' eg] / 50 hgfn] b'j} v]n dg k/fpFb}gf}+ eGof] eg], 
       In a survey of a group of 180 students, 50 students say to like cricket game only,  30 students  
      say to like basketball game only and 50 students say do not like both games. 

i) dflysf] egfOnfO{ e]g lrqdf k|:t't ug'{xf];\ . 
Represent the above information in a Venn diagram. 
ii) ls|s]6 v]n dg k/fpg] / af;s]6 an v]n dg k/fpg] ljBfyL{x¿sf] cg'kft kQf  
nufpg'xf];\ . 
Find the ratio of the students who like cricket game and basketball game. 

12.   dlgifn] ?= 2,00,000 df s]xL cd]l/sL 8n/ lsg] . t/ rf/ lbgkl5 cd]l/sL 8n/sf] t'ngfdf 
g]kfnL d'b|f 5% n] cjd"Nog eof] . g]kfnL d'b|f cjd"Nog ePsf] lbg dlgifn] km]/L  

 g]kfnL ?lkofF ;f6\bf p;nfO{ slt gfkmf jf gf]S;fg x'G5 < kQf nufpg'xf];\ . -$1 = NRs. 
104.28_ 
Manish bought some American dollar for Rs. 2,00,000. But after four days, the Nepalese 
currency was devaluated in the comparison of American dollar by 5%. Again Manish 
exchanged the Nepali currency by giving American dollar in the day of devaluation of 
Nepalese currency. How much does he gain or loss? Find it.-$1 = NRs.104.28_ 

13. 58\s] prfO 10 ;]=dL= / 7f8f] prfO 8 ;]=dL= ePsf] Pp6f juf{sf/ cfwf/ ePsf] lk/fld8sf] 
k"/f ;txsf] If]qkmn kQf nufpg'xf];\ . 
Find the total surface area of a square based pyramid having the slant height 10 cm and vertical 
 height 8cm.  

14. d=;=lgsfNg'xf];\ (Find the H.C.F. of): 
a3+1+2a2+2a, a3-1 and a4+a2+1 

15. ;/n ug{'xf];\ (Simplify): 
ݔ

ݔ) − ݔ)(ݕ − (ݖ +
ݕ

ݕ) − ݕ)(ݖ − (ݔ +
ݔ

ݖ) − ݖ)(ݔ −  (ݕ

16= Pp6} cfwf/ MN / pxL ;dfgfGt/ /]vfx? MN / PQ aLrdf ag]sf lqe'h PMN / ;dfgfGt/ 

rt'e'{h RMNQ x'g\ eg] l;4 ug'{xf];\ : 
∆ PMN sf] If]qkmn Ö 1

2
     RMNQ    sf] If]qkmn .  

A triangle PMN and a parallelogram RMNQ are constructed on the same base MN and between the 
same parallel lines MN and PQ. Prove that: area of ∆PMN=ଵ

ଶ
 area of     RMNQ. 

17.  PQ = 5 ;]=dL, QR=5.6 ;]=dL, Rs=5.4 ;]=dL= SP= 6.8 ;]=dL / ∡PQR=750 ePsf] Pp6f rt'e{'h 
PQRS sf] /rgf u/L pQm rt'e{'hsf] If]qkmn;Fu a/fa/ x'g] u/L Pp6f lqe'h PSM sf] /rgf 
ug'{xf];\ . 
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Construct a quadrilateral PQRS in which PQ=5cm, QR=5.6cm, Rs=5.4cm, SP=6.8cm, and 
∡PQR=750. Then construct a triangle PSM equal in area to the quadrilateral PQRS. 

18 =j[Q ABC sf] Pp6} rfk AC df cfwfl/t s]Gb|Losf]0f APC / kl/lwsf]0f ABC aLrsf] ;DaGw 

k|of]uåf/f k/LIf0f u/L kQf nufpg'xf];\ . sDtLdf 3 ;]=dL= cw{Jof; ePsf b'O{j6f j[Qx? 
cfjZos 5g\ ._ 
Explore experimentally the relation between the central angle APC and the circumference 
angle ABC standing on the same arc AC of a circle ABC. (Two circles of radii not less than 
3cm are necessary.)  

19.  1.5 ld6/ cUnf] dflg;n] 41.5 ld6/ cUnf] Pp6f ?vsf] 7Ls cufl8 pleP/ ?vsf] 6'Kkf]df x]bf{ 
cf“vdf 450 sf] sf]0f ag]5 eg], pQm ?v / dflg; aLrsf] b"/L kQf nufpg'xf];\ .  

      A 1.5 meters tall person is standing in front of 41.5 meters high tree. When observing the top 
of the tree an angle of450 is formed with the eyes. Find the distance between the tree and the 
person. 

20.  olb tn lbPsf] cf“s8fsf] dlWosf 19 eP P sf] dfg kQf nufpg'xf];\ .  
   If the median of the following given data is 19, find the value of P. 

pd]/ jif{df -Age in Year) 6-12 12-18 18-24 24-30 30-36 36-42 
ljBfyL{ ;+Vof -Number Of Students) 4 10 P 4 3 3 

 
;d"x …3Ú -Group D) [4x5 =20] 

21.  Pp6f a}+sn] vftf A df10% k|lt jif{ cw{jflif{s rs|Lo Jofhb/ / vftf B df 12% k|lt jif{ 
jflif{s rs|Lo Jofhb/ sfod u/]sf] 5 . olb tkfO{ 2 jif{sf nflu ?= 25,000 ;f] a}sdf hDdf 
ub}{ x'g'x'G5 eg] s'g vftfdf hDdf ug{' x'G5 / lsg <u0fgfu/L sf/0f;lxt pNn]v ug{'xf];\ .  

 A bank has fixed the rate of interest 10% per annum semiannually compound interest in 
account A and12% per annum annually compound interest in account B. If you are going to 
deposit Rs. 25,000 for 2 years in the same bank, in which account will you deposit and why? 
Give your reason with calculation.  

22.  Ps hgf dflg;n] cfkm\gf] 3/sf] k|of]hgsf] nflu 1.05 ld6/ cw{Jof; / 3.5 ld6/ prfO ePsf] 
Pp6f j[tfsf/ cfwf/ ePsf] kfgL 6\ofª\sL k;naf6 lsg]/ Nofpg' eof] . olb pQm 6\ofª\sLsf] 
dflyNnf] efu cw{uf]nfsf/ 5 eg] ;f] 6\ofª\sLdf slt ln6/ kfgL c6fpF5 xf]nf < kQf 
nufpg'xf];\ .  

A person bought a water tank of circular base having the radius 1.05 meter and height 3.5 meter for 
the use of own house from the shop. If the upper part of the tank is semi spherical, how many 
liters of water will be contained in the tank? Find it.  

23. olb ltg jif{ cl3 afa' / 5f]/fsf] pd]/sf] of]ukmn 48 aif{ lyof] . casf] 3 aif{ kl5 afa' / 
5f]/fsf] pd]/sf] cg'kft 3: 1 x'G5 eg] 5f]/f eGbf afa' slt jif{n] h]7f] x'g'x'G5 < kQf 
nufpg'xf];\ .  
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Three years ago, the sum of the ages of the father and son was 48 years. After three years the 
ratio of the ages of the father and son will be 3: 1, then how much old is the father from his 
son? Find it. 

24.  lbOPsf] lrqdf ABCD Pp6f rs|Lo rt'e'{hxf] . e'hf CD nfO{ nDaofP/  
 E ;Dd k'¥ofOPsf] 5 . olb AD n] ∡BDE nfO{ cfwf u/]sf] 5 eg] ΔABC  
 Pp6f ;dlåjfx' lqe'h xf] egL k|dfl0ft ug'{xf];\ . 
 In the given figure, ABCD is a cyclic quadrilateral. The side CD is  
 produced to E. If AD bisects ∡BDE, prove that ΔABC is an isosceles triangle. 
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Marking Scheme 
  Group 'A'[ 3 x (1+1)= 6] 
1. a. Correct definition of VAT.........................  (1) 
 b. Semi perimeter of a triangle =௔ା௕ା௖

ଶ
..........  (1) 

2. a. ݔ௔ି௕ା௕ି௔ = ݔ଴=1.........................................(1)  

 b. Value of Q1= ܮ +
ಿ
రି௖.௙.

௙
݅.............................. (1) 

3. a. Area of QTR = ଵ
ଶ
 area of     PQRS.................... (1) 

 b. ∡NOP = 2x0.......................................................... (1) 
 

   Group 'B'[4x (2+2) +3x (2+2+2) =34] 
4. a. i. Let the price of the object with VAT be Rs. ݔ. 
  Then, ଵଵଷ௫

ଵ଴଴
= 5763 

  ݔ = Rs. 5100................................. (1) 
  ii. VAT amount = Rs. 5763-Rs. 5100 
    = Rs. 663............................ (1) 
 b. i. 175204.80 = 225000 (1- ଼

ଵ଴଴
)T ................... (1) 

  ii. T = 3 years................................................ (1) 

5. a. i. ଵ
ଶ 

× 10 × √ସ௔మିଵ଴଴
ଶ

= 60 ............................ (1) 
  ii. a = 13m ...................................................... (1) 
 b. i. r = 7cm 
ଶ(7) ߨ = 2156   × ℎ......................................... (1) 
   ii. h = 14 cm....................................................... (1) 
 c. i. PR = ඥ(8)ଶ − (6)ଶ = 10 cm......................... (1) 
  ii. Area of the lateral surface of the prism = (8+6+10) cm  15 cm 
     = 360 sq. cm. ........ (1) 
6. a. i. 14√12 - 32√2 + 18√2 .................................. (1) 
  ii. 0...................................................................... (1) 
 b. i. 16 = (1) .........................................................4 - ݔ 
  ii. (1) ................................................................20 = ݔ 

7. a. i. ସ
ೣ(ଷାଵ ସൗ )
ଵଷସೣ

 ........................................................... (1) 

  ii. ଵ
ସ
......................................................................... (1) 

 b. i. Let a positive number be x. 
ଶݔ    + 5 = 69 ................................................... (1) 
  ii. ݔ = 8 ................................................................(1) 
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 c. i. ଶ௬
௫మି௬మ

+ ଶ௫
௫మି௬మ

..................................................... (1) 

  ii. ଶ
௫ି௬

.................................................................. (1) 

8. a. i. Area of     ABCD = Area of     BCEF = 84 sq. cm. .............. (1) 
  ii. 12 cm  AX = 84 sq. cm. 
    AX = 7 cm.................................................. (1) 
 b. i. ∡NPR = 650..................................................... (1) 
  ii. ∡NMQ = 650 
   Obtuse ∡NOQ = 1300..................................... (1) 
 c. i. ∡OCB = 900 
   OB = ඥ(5ܿ݉)ଶ − (12ܿ݉)ଶ = 13cm................ (1) 
  ii. BE = 13cm - 5 cm = 8 cm................................. (1) 
9. a. i.ଵ

ଶ
× 8 ܿ݉ × 12 ܿ݉ × ܵ݅݊∡ܻܼܺ = .ݍݏ 24 ܿ݉........... (1) 

  ii. ∡ܻܼܺ = 36଴.......................................................... (1) 
b. i.  7= 350 / 9b+5 
   b = 5...............................................................................(1) 
ii) N = 9 x5 + 5 = 50 ................................(1) 
10.a)i)p(3)=ଶ

଺
  and  p(s)= ଶ

଺
  ……………………………(1) 

          ii)p(3 or s)=ଶ
଺

+  ଶ
଺
 = ଶ

ଷ
 …………………………….(1) 

      b) i) let R and B denote red balls and black balls respectively. 
 
 
                                                                              P(R) = ଷ

ହ
                  RR 

 
 
                            P(R) = ହ

଼
                                     P(B) = ଶ

ହ
RB              ……………………(1+1) 

 
                                                                               P(R) = ଶ

ଷ
            BR 

                                P (B) = ଷ
଼
 

                                                                            P (B) = ଵ
ଷ
            BB 

 
 
 
 
 
 
 

10R 

6B 

9R 

6B 

10R 

5B 
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Group - 'C' 
11. Let C and B represent sets of students who like cricket game and basketball game respectively, 

x be number of students who like both and U be the universal set.          
 
 
 
 
 
 
 

I. Representation of the information Venn-diagram      1 
II. n(CB)=n(U)- n )(CUB = 180 − 50 = 130      1 

III. n(CB) = x=n(CB)-n(C)-n(B)=130-50-30=50     1 
IV. n(C)=50+50=100 and n(B)=30+50=80  

n(C) : n(B) = 100 : 80 = 5 :4        1 
12.  i) Rs 104.28= $1 
      Therefore Rs 200000= $1917.91      1 
      ii)$1= Rs 104.28+5% of Rs 104.28 
            = Rs 109.49       1 
     iii)$1917.91= Rs 109.49*1917.91 
                      = Rs 209991.96      1 
     iv) manish makes profit 
      profit= Rs 9991.96      1 
 
13. i) slant height (l)=10 cm, vertical height(h)=8 cm. 
         Let the length of the side of the base of the square based pyramid be a cm. Then 

10ଶ = 8ଶ + (ܽ/2)ଶ ……………………………..(1) 
      ii) a = 12cm          …………………………………………………………..(1) 
     iii) T.S.A of the pyramid= ܽଶ + 2al 
                                             =12ଶ + 2 ∗ 12 ∗ 10  …………………………………………...(1) 
 iv.)                           = 384 sq.cm …………………………………………………… (1). 
14. i.) 1st exp. = a3 +1 = (a+1) (a2-a+1) ……………………………..(1)  
      ii.) 2nd exp. = a3 -1 = (a-1) (a2+a+1)……………………………..(1)   
     iii.) 3rd exp. = a4+a2+1 = (a2+a+1) (a2-a+1)………………………..(1) 
    iv.) L. C. M. = (a+1) (a-1) (a2+a+1) (a2-a+1)………………………(1) 
15.   I.   − ௫

(௫ି௬)(௭ି௫)
− ௬

(௬ି௭)(௫ି௬)
− ௭

(௭ି௫)(௬ି௭)
      1 

II. − ௫(௬ି௭)ା௬(௭ି௫)ା௭(௫ି௬)
(௫ି௬)(௭ି௫)(௬ି௭)

         1 

III. − ௫(௬ି௭)ା௭௫ି௫௬
(௫ି௬)(௬ି௭)(௭ି௫)

         1 

IV. 0           1 

U 

C B 

no(C)=50 

n( )(CUB = 50 

no(B)=30 

n (U) = 180 
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16. i. Correct figure, Given and To prove.       1 
ii. Construction: Draw NS//MP        1 
iii. Area of PMNS = area of RMNQ       1 
iv. Area of  PMN = ଵ

ଶ
area of RMNQ       1 

 
17.I. For correct construction of anglePQR =750  ………………………………………….  1 

II. For correct construction of quadrilateral PQRS …………………………………….. 1 
III. For construction of a line RM parallel to a diagonal SQ. ………………………    1 
IV. For construction of PSM ……………………………………………………………………   1 
 

18. I. Two correct figures …………………………………………………………..  1 
II. Table with correct measurements …………………………………………………………   1 + 1 
III. Correct conclusion  ………………………………………………………………………………  1 

 
19. I. Appropriate figure with correct description  ………..  1 
II. CE=41.5m.-1.5m.=40m. ……………  1 
III. In right angled AEC, 
tan450 = ஼ா

஺ா
 

       or,         1= 40m. /AE ……………  1 
 
 

     IV. The distance between the tree and the person= BD= AE= 40m. ………….  1 
 

20. I. Frequency table  
Age in years No. of 

students (f) 
C.F. 

6-12 
12-18 
18-24 
24-30 
30-36 
36-42 

4 
10 
p 
4 
3 
3 

4 
14 

14+p 
18+p 
21+p 
24+p 

                               N=24+p……………………………..  1 
II. Here,Median (Md) = 19, so median class = 18 – 24 …………………………….   1 

III. Median(md) = ܮ +
ಿ
మି ௖.௙.

௙
× ݅ 

or  19 = 18 +
(మరశ೛)

మ ିଵସ

௣
× 6  ……………………………………………………..    1 

P 

M N 

Q R S 

C 

A E 450 

41.5m 1.5m 

B D 
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             IV. p = 6 …………………………………………………………………………………………………       1 
 

Group 'D' (4×5=20) 
21. Interest in account A 

(i) CI1 = P[(1 + ଵ଴
ଶ଴଴

 )2X2 – 1] = ………………………………………………. 

             = Rs. 5387.65 
Interest in account B 
(ii) CI2 = P[(1 + ଵଶ

ଵ଴଴
 )2 – 1] = ………………………………………………. 

             = Rs. 6360 
(iii) Here it is more convinient to deposit Rs.25000 in account B. Because the 
interest in account B is more than the interest in account A by, 
Rs. 6360 - Rs. 5387.65 = Rs. 972.35      

 

1 

1 

 

1 

1 

 

1 

22. (i) Here, radius of base (r) = 1.05 m 

Total height of the tank (H) = 3.5 m 

Radius of the hemi-spherical part of the tank = r = 1.05m        (fig) 

Hence the height of the cylindrical part of the tank (h) = 3.5m-1.05m = 3.45m 

(ii) Volume of the cylindrical part = πr2h  = ...... 

                                                       = 11.955 m3 

(iii) Volume of hemispherical part  = 2/3 πr3= ......... 

                                                       = 2.427m3 

(iv) Total volume of water tank = 11.955m3 + 2.427m3 

                                                   = 14.382m3 

(v) Volume of water =  volume of the tank = 14.382m3 

                                 = 14.382X 1000l 

                                 = 14 382 liters 
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23.  (i) Let present ages of the father and his son be x years and y years respectively.  

Then, three years ago, ( x – 3) + (y – 3) = 48 

                             or, x + y = 54   

(ii) Again, after three years,  (x + 3) : (y+3)  = 3:1 

                                 or,  x - 3y  = 6  

(iii) solving the above equation we get,  

                              y = 12  

 

 

 

1 

 

1 

 



SET 1 

OCE 

(iv) Again putting the value of y, in any of the above equation we get, 

                             x = 42 

(v) Hence the differnce between their ages = 42-12 =30, 

      Hence the father is 30 years older than his son. 
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1 
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24.  (i) ∡ADE = ∡ADB ........with reason 

(ii) ∡ADE = ∡ABC ...... with reason  

(iii) ∡ADB= ∡ACB ....... with reason   

(iv) ∡ABC = ∡ACB ......with reason  

(v) Δ ABC is an isoscelaces triangle,  with reason 
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